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Abstract
The present contribution presents a service interaction issue more and more encounters in the network when a communication encounters an answering machine. I

In order to adapt service interaction, the contribution proposes that an AS has to identify when a communication is connected to an Answering Machine and when start the registered period.

This requirement should be integrate in the more appropriate SA1 document.
Description 

[image: image1]
In IMS context, a service can be provided using several Application Services (e.g. AS1 and AS2). Some AS (e.g. AS2) can handle Terminating services as Communication Forwarding on no-answer, on busy or unconditional. In this case, the communication can be connected to answering machine.

When the introduction of a new service lead to introduce a new AS (e.g. AS1), some new service interactions can occur due to the server triggering order.

If the second AS (AS1) handles Terminating services which lead to broadcast vocal message toward the called party and need to wait for an answer from this part, if the downstream server (AS2) has to redirect the communication toward an answering machine, this server AS1 is not able to identify that the communication has been redirected to an answering machine.

This can lead to bad, or not optimized, service interactions. 

A concrete example can be the SMS text-to-speech as Service 1 and Communication Forwarding to a Network Answering Machine as Service 2. Without any Answering machine identification, the text-to-speech message will be delivered as soon as the answering machine pick-up the communication and deliver its welcome message. Then start the registered period and thus only the end of the text-to-speech message will be registered in the Answering Machine.

Note: Some network answering machine send DTMF code at the beginning of the connection to them but this signal is transmitted in the media and thus is not identified by AS.

Service requirement: in order to adapt service interaction, an AS has to identify when a communication is connected to an Answering Machine and when start the registered period.
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